# Construction division. Advice for giving credit to contractors/suppliers.

Sl. N regis	lo. – site bills	129	71		Date Regi	- site b	ills	06/08/ MFP	12022
	pany Name:				Site:	3001		MER	
	e of Contractor	MI D Q						, , , ,	
Natu	re of work	P. Ra		7					
	k done	From D	19 607		06/20	r. ta T	o Date	19/1	7/2012
Sl.	Villa/Flat/block no			Rate		Units	Amou		Contractors
No.	V IIIa/I Iau olock iid	,	•	Rate		Chris			bill no
	Clubbase Goils						-		
2.	Brilie works		Ovo	7-6	D	SA	560	1.00	
(2)	Altering as new s	ile 80	2·0D	8.0	0	A-		D-0D	
(F)	Graten falsnica		6.00	350	00_	All	1,96	0.00	
4	H- Frames QC1	8/06							
6.	Such wash	4	0.00	100	.00	NOS	400	00-00	
7.								/	
8.							/		
9.							/		
10.								. 6/	
11.		otal:					7,16		,
Bill	required	<b>∠</b> YES				bill requ		⊔ YES !	
	surement &	Requ				surement ate shee		□ Enclos	1
	nate sheet: WO no.	□ Not r	equired			VO date:		□ Not er	iciosea
					10//				
Rem	arks :								
								_	_
Appr	oved by Project Ma	nager	Appro	oved b	y Desi	gn Tean	n App	roved by	M.D.
Date	1/8/20n		Date:				Dat	e:	
Sign:	1111		Sign:				Sign	n:	

Notes: 1. This advice thust be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

#### **Bill for Consumables**

#### P. Raju Madhusudan reddy nagar colony Cherlapally, Hyderabad

Date:06-08-2022

In favor of:

MPL

Project / Site:

MFP

Location:

82/1. Mallapur

Type of Work:

Fixing of Grills.

Towards:

Allowance for Consumables

S No.	Description	Amount
1.	Brief description of work done: Fixing of grills at Clubhouse,	
	gates fabrication & fixing work purpose.	Rs 1,432.00
	Total amount = $Rs.7,160.00$	,
	Work done from date 28-06-2022 to 18-07-2022.	

Amount in words: One Thousand Four Hundred and Thirty Two Rupees Only.

Sign:		
_		

### **Bill for Equipment Allowance**

P. Raju Madhusudan reddy nagar colony Cherlapally, Hyderabad

Date:06-08-2022

In favor of:

**MPL** 

**Project / Site:** 

**MFP** 

Location:

82/1. Mallapur

Type of Work:

Fixing of Grills.

Towards:

Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: Fixing of grills at Clubhouse, gates	
	fabrication & fixing work purpose.	Rs 2,864.00
	Total amount = $Rs.7,160.00$	,
	Work done from date 28-06-2022 to 18-07-2022.	

Amount in words: Two Thousand Eight Hundred and Sixty Four Rupees Only

Sign:	

## **Bill for Labour charges**

P. Raju Madhusudan reddy nagar colony Cherlapally, Hyderabad

Date:06-08-2022

In favor of:

MPL

Project / Site:

MFP

Location:

82/1. Mallapur

Type of Work: Towards:

Fixing of Grills.
Allowance for Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Fixing of grills at Clubhouse, gates fabrication & fixing work purpose.  Total amount = Rs.7,160.00  Work done from date 28-06-2022 to 18-07-2022.	Rs 2,864.00

Amount in words: Two Thousand Eight Hundred and Sixty Four Rupees Only

Sign:		

ESTIN	ESTIMATE SHEET						
Compa	y Name:	MPL	Prepared bv:		R.Ashok		
Project:		May Flower Platinum					
Work I	Work Description:	Welding works					
Contrac	Contractor Name:	P.Raju					
Date:		06.08.2022					
S.No.	Item Head	Item Description	Ouantity	Units	Rate	Amount	Grand Total
	1 Clubhouse Grils Fixing work	Fixing work	80.00	Sft	7.00	560.00	
		Altering as per site	80.00	Sft	8.00	640.00	
7	2 Gates - fabrication and fixing		56.00	Sft	35.00	1,960.00	
(7)	3 H-frame fabrication for elctrical ducts	C-Block	40.00	No's	100.00	4,000.00	
			Total Amount			7,160.00	
	Amount in words :- Seven Thousand One Hundred and Sixty Rupees Only	Hundred and Sixty Rupees Only					

1.00 4.00 4.00 1.00	MEASUREME! Company Name: Project: Work Description Contractor Name Date: S.No Clubhou	MEASUREMENT SHEET  Company Name:  Project:  Work Description:  Contractor Name:  Date:  Date:  S.No  Item Head  Clubhouse Grils Fixing work	MPL May Flower Platinum Welding works P.Raju 06.08.2022 Item Description	Prepared by:  A  Length  5.00	B Width	R.Ashok R.Ashok C Height 4.00	Nos 2.00	Quantity 40.00		Units Sft
Clubhouse Grils Fixing work   6th floor   7th floor   7th floor   5.00   1.00   1.00	) Late:		06.08.2022	Α	В	С				
floor       5.00       1.00         floor       5.00       1.00         mmingpool gate       4.00       4.00         th Side railing gate       5.00       4.00         nsformar gate       5.00       4.00         llock       4.00       1.00	O.N.O.	Item Head	Item Description	Length	Width	Height		Vos	+	Quantity
floor         5.00         1.00           mmingpool gate         4.00         4.00           th Side railing gate         5.00         4.00           nsformar gate         5.00         4.00           flock         4.00         1.00		Clubhouse Grils Fixing work	6th floor	5.00	1.00	4.00	ı	2.00	2.00 40.00	40.00
mmingpool gate       4.00       4.00         th Side railing gate       5.00       4.00         nsformar gate       5.00       4.00         llock       4.00       1.00			7th floor	5.00	1.00	4.00	1 1	2.00	2.00 40.00	
th Side railing gate 5.00 4.00   Insformar gate 5.00 4.00   Insformar gate 4.00 1.00   Insformar gate 5.00 4.00   Insformar gate 6.00 4.00   Insformar gate	2	Sates – fabrication and fixing	Swimmingpool gate	4.00	4.00	1.00	- 1	1.00	1.00 16.00	
10ck 4.00 1.00 1.00			North Side railing gate	5.00	4.00	1.00		1.00		
Hock 4.00 1.00			Transformar gate	5.00	4.00	1.00		1.00		
4.00 1.00	<u>u</u>	H-frame fabrication for elctrical d	lucts				i 1			
			C-Block	4.00	1.00	1.00		10.00	10.00 40.00	
		,								